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THEX Sy« T - R - A5 B B B B G = A & 3l (GRS
290 =M
= 1 656, 109, 606
PCHG 1.
= 1 547, 026, 560
7 VAN Ay MRE T
= 1 165, 017, 400
7 VAT by MR 50N/mm2 L=38.379m 543 (G1#TA1
-P1£f#)
VN 1 11, 142, 358 11, 142, 358
7 VAT by MR 50N/mm2 L=37.974m 543 (G24TA1
-P1£f#)
VN 1 11, 050, 272 11, 050, 272
7 VAT by MR 50N/mm2 L=37.569m 543 (G3#TA1
-P1£f#)
VN 1 10, 958, 187 10, 958, 187
7 VAT by MR 50N/mm2 L=37. 164m 543 (G4#TA1
-P1£f#)
VN 1 10, 866, 101 10, 866, 101
7 VAT by MR 50N/mm2 L=36. 759m 543 (G5HTA1
-P1£f#)
VN 1 10, 774, 015 10, 774, 015
7 VAT by MR 50N/mm2 L=38. 803m 543% (G1#7P1
-P2£E M)
VN 1 11, 142, 358 11, 142, 358
7 VAT by MR 50N/mm2 L=38. 532m 543 (G247P1
-P2£E M)
VN 1 11, 142, 358 11, 142, 358
7 VAT by MR 50N/mm2 L=38. 264m 543 (G3#7P1
-P2£E M)
VN 1 11, 050, 272 11, 050, 272
7 VAT by MR 50N/mm2 L=38.002m 543 (G4#7P1
-P2£E M)
VN 1 11, 050, 272 11, 050, 272
7 VAT by MR 50N/mm2 L=37. 745m 543 (G5#TP1
-P2£E M)
VN 1 10, 958, 187 10, 958, 187
7 VAT by MR 50N/mm2 L=37. 786m 54y (G147P2
-A2%%fH)
VN 1 11, 050, 272 11, 050, 272
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7 VAT by MNRLE 50N/mm2 L=37. 720m 5%y (G24{7P2
-A2F%fH)
VN 1 10, 958, 187 10, 958, 187
7 VAT by MR 50N/mm2 L=37.654m 54y (G347P2
-A2%%fH)
VN 1 10, 958, 187 10, 958, 187
7 VAT by MR 50N/mm2 L=37.587m 54y% (G44TP2
-A2%%fH)
VN 1 10, 958, 187 10, 958, 187
7 VAT by MR 50N/mm2 L=37.521m 54y (G54TP2
-A2%%fH)
VN 1 10, 958, 187 10, 958, 187
7 VEAYAMYT Ry N EMTHILSL T
= 1 36, 797, 400
7 VEAYAMT Ry EMTRILST 2200kN (225t) ! (12512. 7B)
VN 15 2, 453, 160 36, 797, 400
AT
= 1 233, 256, 161
NS e KK JJ 2090kN
(A1)
& 5 13, 315, 578 66, 577, 890
NS e KK JJ 2090kN
(A2)
& 5 13, 315, 578 66, 577, 890
NS e RKIKJJ 2150kN
(P1)
& 10 5,001, 169 50, 011, 690
NS e RKIKJJ 2150kN
(P2)
& 10 5,001, 169 50, 011, 690
fliBRAS T 8RR SD295 D10
t 0. 74 104, 056 77,001
DR T (BRERAMTAR )
= 1 30, 512, 565
HiZRa% 7" VRV AN Y MET
= 1 30, 512, 565
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TRAR - RE 1
= 1 7, 446, 791
R SD345 D13
t 1.2 265, 943 319, 131
R SD345 D16~25
t 1.9 264, 009 501, 617
EVVER 30-12-25(20) (&il) HWOKBEAER
Dy MR R
m3 58 92, 361 5, 356, 938
PCh=7" v Yy) VARV R YAFA BTOKN (60t) (1S2
1.8)
m 240 3,230 775, 200
EXR YY) VANV L VATA BTOKN(60t) (1S2
1.8) FEEM (BaEA)
§=7" 19 25, 995 493, 905
AL T
= 1 23, 193, 629
ERAR SD345 D13
t 4. 74 265, 943 1, 260, 569
ERAR SD345 D16~25
t 8.29 264, 009 2,188, 634
EVVER 30-12-25(20) (&il) HWOKBAER
D3y MR R
m3 151 92, 546 13,974, 446
PCh=7" v Yy) VARV R YAFA BTOKN (60t) (1S2
1.8)
m 1,018 3,230 3, 288, 140
EXR YY) WANIYE VATA BTOKN(60t) (1S2
1.8) FEEM (BRaEA)
B=7" 80 31, 023 2, 481, 840
PCav FERAR T
= 1 23, 278, 777
PCHR 37K v af/b 747 15X 10
m 426 1, 890 805, 140
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PCH k% 50N/mm2
bie 396 50, 518 20, 005, 128
PCHR % 50N/mm2 FH%& A
bie 46 46, 420 2,135, 320
Wk E
m 805 413.9 333, 189
PRI
= 1 27, 523, 837
ERAR SD345 D13
t 6.01 162, 162 974, 593
ERAR SD345 D16~25
t 91.19 160, 228 14, 611, 191
VAR 30-12-25(20) (@)
m3 303 26,971 8,172,213
P (PCa/EK RAR L)
= 1 3, 765, 840
R B 1L
= 1 82, 460, 072
(GRS
= 1 20, 834, 281
- 27 LR 2 fiff ££200mm
(A1)
m 14 820, 206 11, 482, 884
- 27 LR 2 fiff ££200mm
(A2)
m 11.4 820, 298 9, 351, 397
PekZEE T
= 1 22,379, 171
HEAK SUS304 654 X400
T 18 151, 664 2,729, 952
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HEKE EREBATVAE D202
(BT

m 234 46, 558 10, 894, 572
HEKE ERBATVAE D102
(BT

m 112 21, 870 2, 449, 440
HEKE ERBATVAE D202
(F#EsT)

m 100 24, 734 2,473, 400
IR & & RRRE300~410

T 26 47, 580 1, 237, 080
IR & & K= S

T 13 119, 895 1, 558, 635
RIRAK$E & & A7VvEY 7 vFa-7" ®20 SUS

m 54 5, 438 293, 652
AP =T PR R M12X 100

VN 552 1, 345 742, 440

P - BE R T

= 1 7,078, 747
VAR 24-12-25(20) (@)

m3 64 27, 920 1, 786, 880
P SD345 D13z Fvistflis s

t 0.16 259, 497 41, 519
ERAR SD345 D13

t 10. 22 167, 411 1, 710, 940
ERAR SD345 D16~25

t 0.72 163, 820 117, 950
pibe — AP

= 1 3, 419, 400
H Hikk VR G HEE B Hub t=10

m2 0.6 3,431 2,058
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gy e L
= 1 4,211, 083
VAR 24-12-25 (i)
m3 43 27, 920 1, 200, 560
P SD345 D13z Fvistflis s
t 0.09 259, 497 23, 354
ERAR SD345 D13
t 6. 42 166, 582 1, 069, 456
ERAR SD345 D16~25
t 0.5 163, 083 81, 541
Tl e — AT
= 1 1, 834, 800
B HiA VRS HEE B Hub t=10
m2 0.4 3,431 1,372
5 2 I 5 3 At L
= 1 4,070, 178
& T EER) LA WM& 1.2m 7/-8 v REA
m 126 32, 303 4,070, 178
WA T
= 1 23, 886, 612
TRAL TR 4
(ALFGH)
m 17 369, 907 6, 288, 419
TRAL S TR 4
(PLFRAT)
m 36 248, 539 8,947, 404
TRAL S TR 4
(P2FF 1)
m 32 233, 344 7,467, 008
TR 6 B B A7 7AF9 )8 W=750
m 25 42, 350 1, 058, 750
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TR 6 B B A7 72978 W=500
m 3 41, 677 125, 031
/) - MG RIS E T
= 1 23,578, 614
R T
= 1 15,784, 114
i TR
= 1 12, 281, 180
RIS S 35
= 1 1, 835, 664
e - AEIE Y 25
= 1 1, 667, 270
2B 1
= 1 5, 236, 640
R
= 1 966, 450
4Y=7" Vv B
= 1 4, 270, 190
ke AR T
= 1 2, 557, 860
Y HeA
= 1 2, 557, 860
% T
= 1 3, 044, 360
RIEE T
= 1 3, 044, 360
i ek g =
= 1 3, 044, 360
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T HE
= 1 1, 625,078
=
= 1 1, 625,078
B A
= 1 1, 625,078
av)-p 24-12-25(20) (% ¥F)
m3 15 27, 819 417, 285
ERAR SD345 D13
t 1.26 171, 371 215, 927
ERAR SD345 D16~25
t 0.19 169, 437 32,193
T P — T
= 1 834, 000
H HiAR VRS HEE B Hub t=10
m2 0.3 3,431 1,029
i
= 1 124, 644
[EEE AR
= 1 657, 734, 684
MR E
= 1 46, 738, 783
B ST ¢
= 1 4,611, 461
T
= 1 1,288, 277
T RR A oy AR ST A
= 1 1,288, 277
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HTE
= 1 54, 146
B B HE R FEART IR
= 1 54, 146
BUGERRYCER (K5 1)
= 1 3, 269, 038
HimEpxE (FE L)
= 1 42,127, 322
g
= 1 704, 473, 467
BTk Xegiiv oy
= 1 157, 238, 933
B 5]
= 1 861, 712, 400
— R B E
= 1 105, 987, 600
T HAlik
= 1 967, 700, 000
THE B 2 %8
= 1 96, 770, 000
TG
= 1 1, 064, 470, 000
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